MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

140 WEST FLAGLER STREET, SUITE 1603
BUILDING CODE COMPLIANCE OFFICE (BCCO)

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305)375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov

Eastern Metal Supply, Inc.

3600 23" Avenue, South

Lake Worth, FL 33461

ScorE: This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division and -
accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where
allowed by the Authority Having Jurisdiction (AHI).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code
including the High Velocity Hurricane Zone.

DESCRIPTION: ASSA/40mm Bertha Roll-Up Shutter

APPROVAL DOCUMENT: Drawing No. 10-029, titled “ASSA/40mm Bertha Roll-Up”, prepared by Tilteco,
Inc., dated March 03, 2010, sheets 1 through 12 of 12 including 1A, 5A, & 5B signed and sealed by Walter A.
Tillit Jr., P.E., on March 05, 2010 bearing the Miami-Dade County Product Control Approval stamp with the
Notice of Acceptance number and the approval date by the Miami-Dade County Product Control Division.
MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, West Palm Beach, FL
and the following statement: "Miami-Dade County Product Control Approved *, unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 and evidence submitted page E-1 as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A, Makar, P.E., M.S,

4/% /4 M NOA No. 10-0317.04

Expiration Date: 07/28/2015

07 /2.8 /200 Approval Date; 07/28/2010
age




Eastern Metal Supply, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Drawing No. 10-029, titled “ASSA/40mm Bertha Roll-Up”, prepared by Tilteco,
Inc., dated March 03, 2010, sheets 1 through 12 of 12 including 14, 54, & 5B
signed and sealed by Walter A. Tillit Jr., P.E., on March 05, 2010.

B. TESTS
1. See Association’s generic approval under 09-1289.

C. CALCULATIONS
1. See Association’s generic approval under 09-1289.

D. QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

E. MATERIAL CERTIFICATIONS
1 See Association’s generic approval under 09-1289.

F. STATEMENTS ;

1. Release letter issued by the American Shutter System Association, dated January
22, 2010, certifying this product to meet the criteria of product tested and
approved, and allowing Eastern Metal Supply, Inc. to use the test results
approved under Miami Dade County Approval No. 09-1289, signed by Mr. Legny
Rodriguez.

2. Acknowledgment letter by Eastern Metal Supply, Inc., dated F. ebruary 24, 2010,
signed by Mr. Craig Lightle.

3. Letter by Tilteco Inc., dated March 15, 2010, signed and sealed by Mr. Walter A.
Tillit, Jr., P.E., certifying that the drawing (No. 1 0-029) prepared for Eastern
Metal Supply, Inc. is engineering wise identical to ASSA’s generic drawing (No.
09-161).

Ho oo AU g

¥ A. MakKar, P.E., M.S.

Senior Product Control Examiner
NOA No. 10-0317.04

Expiration Date: 07/28/2015
Approval Date: 07/28/2010




GENERAL NOTES:

1. ASSA/40mm BERTHA ROLL—-UP SHOWN ON THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) HAS BEEN VERIFIED FOR
CODE COMPLIANCE IN ACCORDANCE WITH THE 2007 EDITION OF THE FLORIDA BUILDING CODE.
THIS ROLL-UP SHUTTER MAY BE INSTALLED AT HIGH VELOCITY HURRICANE ZONES (MIAMI~DADE / BROWARD
COUNTIES).
DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE. IN ORDER TO
VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.A.D. AS TESTED WERE NOT OVER STRESSED, A 33% INCREASE
IN ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS.
FASTENERS SPACING TO WOOD HAS BEEN DETERMINED IN ACCORDANCE WITH N.D.S. 2005. :
ASSA/40mm BERTHA ROLL—UP ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN
ACCORDANCE WITH SECTION 1626 OF THE ABOVE MENTIONED CODE AS PER FENESTRATION TESTING LAB. REPORTS
# 2749 & § 2760 AS PER TAS-201, TAS-202 & TAS—-203 PROTOCOLS.

ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063-T6 ALLOY & TEMPER (UNLESS OTHERWISE
NOTED).

ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AIS! SERIES OR CORROSION RESISTANT COATED CARBON STEEL

AS PER DIN 50018 W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH. ALL TEK SCREWS SHALL BE AS
MANUFACTURED BY ITW BUILDEX, INC.

. BOLTS TO BE ASTM A-307 GALVANIZED STEEL OR AlSI 304 SERIES STAINLESS STEEL, WITH 36 ksi MINIMUM YIELD
STRENGTH.

. STORM BARS AT FLOOR AND CEILING MOUNTING INSTALLATIONS MAY BE REMOVABLE AT NON HURRICANE CONDITIONS.
HOWEVER, EACH STORM BAR SHALL BEAR A PERMANENT LABEL IN A VISIBLE PLACE WITH A WARNING NOTE
INSTRUCTING THE TENANT OR OWNER THAT STORM BARS MUST BE INSTALLED WITH CORRESPONDING HARDWARE
DURING PERIODS OF HURRICANE WARNING AND THAT ROLL UP SHUTTERS WILL NOT OFFER HURRICANE PROTECTION
UNLESS ALL STORM BAR ARE INSTALLED AS DIRECTED.

- REMOVABLE STORM BARS SHALL BE STORED IN A CONSPICUOUS PLACE WITH EASY AND IMMEDIATE ACCESS SO THAT
THEY CAN BE REACHED AND INSTALLED ANY TIME (HURRICANE CONDITIONS OR NOT) SLATS ARE ROLLED DOWN. THE

EFFECT OF THE SLATS ROLLED DOWN WITHOUT STORM BARS IS; THOSE SLATS WILL SLIP OUT OF TRACK DUE TO
THE DEFLECTION CAUSED BY WIND FORCES.

WHEN REMOVING STORM BARS, ONE STORM BAR SHALL ALWAYS BE LEFT INSTALLED (SHALL NOT BE REMOVED). THIS
CONDITION IS ONLY REQUIRED FOR HEADER SPANS EQUAL OR GREATER THAN 12'-0"

. ANCHORS TO WALL FOR SIDE RAILS & BOX CONNECTION SHALL BE AS FOLLOWS (UNLESS OTHERWISE NOTED):

(A) TO EXISTING POURED CONCRETE (Min. f'c=3192 psi):
~ 1/4"0 TAPCON ANCHORS, AS MANUFACTURED BY ITW BUILDEX, INC.

NOTES:
A.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE IS 1 3/4". NO EMBEDMENT INTO
STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED EMBEDMENT,

A.2) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING
WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH
PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTE A.1 ABOVE.

(B) TO EXISTING CONCRETE BLOCK WALL (ASTM C~90):
— 1/4" 8 TAPCON ANCHORS AS MANUFACTURED BY ITW BUILDEX, INC.

NOTES:
B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO CONCRETE BLOCK UNIT SHALL BE 1 1/4"
B.2) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL,

ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS.
ANCHORAGE SHALL BE AS INDICATED ON NOTE B.1 ABOVE,

(C) TO EXISTING WOOD FRAME BUILDING: SOUTHERN PINE #2 W/ G=0.55 MIN.
~ 1/4'0 LAG SCREWS PER N.D.S.

NOTES:

C.1) MINIMUM THREADED PENETRATION OF LAG SCREWS INTO THE WOOD FRAME UNIT SHALL BE 1 1/2" NO
THREADED PENETRATION INTO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED THREADED
PENETRATION.

C.2) MINIMUM EDGE DISTANCE OF LAG SCREWS INTO WOOD SHALL BE AS INDICATED ON SHEET 8.

C.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE OR BRICK PANELS, VENEER OR PAVERS BE FOUND

ON THE EXISTING WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN SUBSTRATE BEHIND
SUCH PANELS.

8.

ANCHOR SPACING EDGE DISTANCE POURED CONCRETE CONCRETE BLOCK
—1/4"0 TAPCON 3" 3" 1 3/4” (Min, fe=3192 psi) 1 1/4" (ASTM C—90)
~1/4"8 CALK—IN 2 1/2” 3" 7/8" (Min. fc=3000 psi) -
~3/80 CALK—IN 3 3/4" 4 1/2" 1 1/4” (Min. fc=3000 psi) -
—1/2"8 CALK—IN 5" 6" 1 1/2" (Min. fc=3000 psi) -
~5/16"8 TAPCON XL 3 3/4" 4" - 1 3/4" (ASTH C-90, GROUT FILLED)
-3/8"0 KWK BOLT TZ 6" 4 3/8" 2" (Min. f'e=3000 psi) -
-1/2"8 KWK BOLT TZ 9 3/4" 6” 3 1/4" (Min. fc=3000 psi) -

10.

11.

12.

13.

14.

15.

16.

. ANCHORS REQUIRED FOR STORM BARS, HEADER & MULLIONS CONNECTIONS TO CONCRETE (MIN. f'c=3000 PS|) SHALL
BE AS SPECIFIED ON APPLICABLE SECTIONS SHOWN ON SHEETS 5, 5A, 5B, 6, 7 OF 12 RESPECTIVELY.

ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S
MANUFACTURER.

—CALK—IN ANCHORS TO BE AS MANUFACTURED BY POWERS FASTENERS, INC.
—TAPCON ANCHORS AS MANUFACTURED BY ITW BUILDEX, INC.
—KWIK BOLT TZ EXPANSION ANCHORS AS MANUFACTURED BY HILTI, INC.

MINIMUM EDGE DISTANCE AND SPACING FOR ABOVE MENTIONED ANCHORS SHALL BE AS INDICATED BELOW OR AT
ABOVE MENTIONED SHEET. EDGE DISTANCE AND EMBEDMENT ARE BEYOND ANY FINISH MATERIAL.

MINIMUM EMBEDMENT

IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE
SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO
CONCRETE, BLOCK OR WOOD FRAME BUILDINGS.

THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS
CONTACT WITH THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND
FULL LENGTH.

ROLL-UP MECHANISM NOT PART OF THIS APPROVAL, BUT SHALL BE CERTIFIED BY AN INDEPENDENT TESTING
AGENCY.

ROLL-UP SHUTTER INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND
ZONING REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

(A) THIS (P.AD.) PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE
SPECIFIC PROJECT; I.E. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.A.D.

CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY
OF THIS PRODUCT, BASED ON THIS PRODUCT P.A.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE
CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S
RESPONSIBILITY.

(8)

©

(D) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL
BECOME THE ENGINEER OF RECORD (E.O.R) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE
PROPER USE OF THE P.A.D. ENGINEER OF RECORD, ACTING AS DELEGATED ENGINEER TO THE P.A.D. ENGINEER

. SHALL SUBMIT TO THIS LATHER THE SITE SPECIFIC DRAWINGS FOR REVIEW

THIS PRODUCT APPROVAL DOCUMENT WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

(E) THIS P.A.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF
RECORD THAT PREPARED IT.

PERMANENT SHUTTER MANUFACTURER'S LABEL SHALL BE PLACED ON THE EXPOSED SURFACE OF THE SIDE RAIL
APPROXIMATELY 4" BELOW THE TOP OF SUCH RAIL, LABEL SHALL READ AS FOLLOWS:

EASTERN METAL SUPPLY, INC.

LAKE WORTH, FLORIDA.

MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED.

ONCE ALL COMPONENTS HAVE BEEN CHOSEN, CHECK FOR COMPLIANCE WITH SECTION 1613.1.9 OF THE FLORIDA
BUILDING CODE 2007.

AWy,

\ \} (/)
SR A Ty e,

MINIMUM THREADED PENETRATION SHALL BE AS INDICATED ON NOTE C.1 ABOVE.
Approved as complying with the
(o3

Florida Bujiding Code
DateQ % é%% é&o’ "
NOA# - N
Miami Dade Product Control

g;visio;z/ (/& / Zﬁ ;
c”

WIAMI-DADE COUNTY

\CENS L. % FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
N N 8Y:
02010 TLTECO INC. ASSA/40mm BERTHA ROLL—UP o
\\ EASTERN METAL SUPPLY, INC Vo
iLlEc 0 e 00 28SMA. s
TILLIT TESTING & ENGINEERING COMPANY LAKE WORTH, FL. 33461 o360 10—-029
6335 ”;‘K;,{‘?'(,sgg);;zig,:?’;spgg'?@%g} 33166 _— Phone: (800) 432—25:'4, F:; fm) 209— - DRAWING No
WALTER A. TILLIT Jr., P.E. ! 3 SHEET 1 OF 12
FLORIDA Llc. # 44167 2 4



| S— MAXIMUM HEADER SPAN (SEE SCHEDULE)
w-3
—@or® 7y 000 ~0@0-0
Cont.
/ /|
7 A Z | 7
Z % 7 = 7
7 7 7 N 2
/ / A / b [ J J / o
A/ 7 7 7
& Yy 2 T —" — (] & S S——G— | & S —— s
27 Z A= 72
EY A— >~ ¥ D/ | e e i | i a— s - a—s | 772
2P f 2 2 f P P 4 2 5 5 5 5 2 % R
) z
. 7 . 0000~ =
N, 7 (Tp.) - 72"
) / / / / A
T 7 4 7 = 72
~ % /, K 7 % §
/ (Typ. Ea. END) / - % :
% % - . — 3
7 % 2 ’ 28
[—" /1
Z ~ —® O A=, — 7
L Zz / A Z
WHEN
Max. SLAT SPAN (SEE SCHEDULE) [ﬁw ‘ @APPL’CABLE I
Mox. SLAT SPAN (SEE SCHEQULE) ———— ] Max. STORM BAR SPACING (SEE SCHEDULE)
l I
TYPICAL SINGLE UNIT ELEVATION (NO STORM BARS REQUIRED) TYPICAL MULTIPLE UNIT ELEVATION (STORM BARS REQUIRED)
NOTE: SEE SHEETS 2 & 3 OF 12 FOR COMPONENTS NOMENCLATURE, NOTE: SEE SHEETS 2 & 3 OF 12 FOR COMPONENTS NOMENCLATURE.
Max. MULLION SPACING—] Wax MULLION SPAGIG (obe SomepulE) or @
i ' olle
on
@\//// //////////// /////////7 JII 1114 IIPY @\ LSS S ! /7 LSS S
i H 1t
| |  ®@«@® | | ®OpKeE
.} i L] i 7
Y6 ® @ =@ = 3
8 9 8
3 o @ 7@\ 5 35 5 S § §
@, = —— (Typ.) n I S—~— (& S—~— H~m— | & S"~— E g
: Y I g
a &
g — e 3 5 S 5 @ 8
=||==NcIolor oW I==I|I==|==] | SR
: (Typ.) 4 —= 5 % s — it g 3
g — Q Q R R = S
3 “ - It = s §
> I (Typ. Ea. END) i qiie | A )%
2 0 \
= ® ok =| =5 |
| Y L H
NN\ \\\\\\\\\\\\T \\\\\\\\\\\\ SNNNNNNNNN \\\>Y\\ ANV ANNANN NN AN ANNN NNV IGRANNNA N \\\\\\Ns\\‘}\
b | w-1 Max. SLAT SPAN (SEE SCHEDULE) T’ W-2 ]\\ WHEN
Mox. SLAT SPAN Max. STORM BAR SPACING (SEE SCHEDULE) APPLICABLE
(o8F ScHEDLE) @ TYPICAL CONSECUTIVE MULTIP W (&orm BARS REOU/RED)
TYPICAL CONSECUTIVE SINGLE UNIT ELEVATION (NO STORM BARS REQUIRED) AN o £ U . , ,
NOTE: SEE SHEETS 2 & 3 OF 12 FOR COMPONENTS NOMENCLATURE, He NOTE: SEE SHEETS 2 & &QV12°F " ONENCGTURE. FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
Approved as complying with the © 2010 TILTECO INC. ASSA /40m m BERTHA ROLL-UP DR:'VZ\./KBY:

Florida Buijding dc
Date 0 20lo

NOA# [O - 0B 0

| I EASTERN METAL SUPPLY, INC 3/3/10
/ IL ECOINC\ (ASsA # 2) DATE

gﬁqEZEEECTIONS ON Mia_m_iD Product Contiol 3600 23rd AVENUE, SOUTH
SHEETS 4 THRU 7. Divisio / TILLIT TESTING & ENGINEERING COMPANY LAKE WORTH, FL. 33461 10—-029
By - 8355 N#. 3th. Syt 205 - ‘;’f’”“(,gﬁ,?f”s,;}, 33166 Phone: (800) 432-2204, Fax: (561) 209—8380 DRAWING No
’ EB-0006719 REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE
¥
WIAMI-DADE TOUNTY ” WALTER A. TILLIT Jr., P.E. '
' FLORIDA Lic. # 44167 2 p SHEET 1A OF 12




IS
N

295"

—LIEI"
u

043"

1.870" ———

57
575"

E
1.

079"

382"

(A) TYPE 1 SLAT:

EXTRUDED ALUMINUM

SLAT
6063-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1*

r—z. 000 "——l

1/4"
TYP—™

4.000"™

TYPE 4 STORM BAR:

4" HEAVY EXTRUDED STORM BAR
6063~T6 ALUMINUM ALLOY
SCALE: 1/2" = 1~

250"

.J4

-
N

I—v2.210"

SCALE: 1/2" = 1”

.184"

fe———2.000"——]

2.000"

2.000™

1/4"

-3.000"

1/8"

TYPE 2 SLAT:

EXTRUDED ALUMINUM

BOTTOM SLAT
6063—-T6 ALUMINUM ALLOY

©

TYPE 1 STORM BAR:
2" EXTRUDED STORM BAR

6063—T6 ALUMINUM ALLOY

SCALE: 1/2" =

2,000" i

2.000 ——,

4.000"

3/8"-16x4 1/2" S.S.
CAP SCREWS W/NUT

© 24" O.C. STARTING
/AT 10" FROM TOP AND
BOTTOM CF STORM BAR.

5
g

/4"
TYP.

2.000"

TYPE 5 STORM BAR:

4" HEAVY EXTRUDED STORM BAR

8.000"

1/8"
e, T

2.000" ————

(V) HEADER TYPE 4:

6063-T6 ALUMINUM ALLOY
SCALE: 1/2” = 1”

6063-T6 ALUMINUM ALLOY
SCALE: 1/2” = 1"

875"
775"

I

19 D) TYPE 2 STORM BAR:

3" EXTRUDED STORM BAR
6063—-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"

-3.000*

r-—z. 000 ﬁ’

1/8"

4.000*-

TYPE 3 STORM BAR:

4” EXTRUDED STORM BAR
6063-~T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"

1/8"

4.000"

4.000™

——-,»4—1 /8"

-2.000™

1/4”
YP

[———2. 000 "bl

(6) HEADER TYPE 1:

6063—-T6 ALUMINUM ALLOY
SCALE: 1/2” = 1"

® TYPE 1

SIDE RAIL:

6063—~T6 Alurm. ALLOY

NOA#
Miami

Date ©

(H) HEADER TYPE 2:

6063—-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1”

2.000™

() HEADER TYPE 3:

6063~T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"

FLORIDA BUILDING CODE (High Velocity Hurricane Z one)

© 2010 TILTECO INC.

/ TiLTEC O e, \

\\ A
SCALE: 1/2" = 1” \\\‘ ('«?f......r,lll/ "'&
R .
S A\GE L2
Approved as complying with the := ,'. NO 441 67 .‘
Florida Buﬂ?_mg Coge | = % e : *
O o - . :
Z -9 STATEOF ‘a-
Product Con i ’i ? (7P
vaxsxm%?jé” / M/ 5 . SR \\s
> "r,,f%% O
MIAMI= XA WALTER A. TILLIT Jr.,
UM

TILLIT TESTING & ENGINEERING COMPANY

6355 N.W. J6th, St, Ste. J05 — VIRGINIA GARDENS, FI. 33166
Phaone : (305)877 1530 . Fox : (105)671—1511

£6~0006719
FLORIDA Lic. # 44167 2 4

DATE REV., No DESCRIPTION DATE

| ASSA/40mm BERTHA ROLL—UP | OFam o
EASTERN METAL SUPPLY, INC oo
(ASSA § 2
3600 23rd AVENUE, SOUTH
LAKE WORTH, FL. 33461 10—029
— Phonfssg:ggjv 4322204, Fax: (561) 209-8380 DRAWING No

P.E. ! 3

SHEET 2 OF 12




3.000"

OlCL N

4.000"-

4.000"

—4.000™
4.000"™

le—1,/8"

. 1/4"
TYP.

6.000™

(N) TYPE 1 MULLION:

4" EXTRUDED MULLION
6063-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1

(2) CONCRETE ANCHORS SPACED
2" 0.C. VERTICALLY W/ 3/4"
EDGE DISTANCE TOP & BOTTOM,

)

(0) TYPE 2 MULLION:

v

it
X

@ Galv. STEEL DRUM

BALL BEARING ASSEMBLY

®OR@ HOUSING \ A
#10x1/2" S.MS._//‘:r

@ 4" o.C

BRACKET DETAIL 1

[ -

2.75%
Min.

R

SIDE
W) DRUM scur 16 - -

1010 ELITE ROLLED STEEL F. E.

END

P. 0. 1 Z 200 DESIGNATION

Flu= 410 NW/MM? 2 OF STRETCH
MINIMAL ON TEST. BAR OF 80 MM: 24 %
G—90 GALVANIZED COATING Thk.: .060"

4" EXTRUDED MULLION
6063-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"

OICEGN

®

2" MIN.

— i~ (3)1/4"8x1"* TEK SCREWS AT —
T EACH BRACKET, \ N
- |:| — l:l 1:1 —
e ||
. @ Galv, STEEL ——, @ Galv, STEEL —— I——@ Galv. STEEL
SIDE BRACKET | _@ SIDE BRACKET |_I SIDE BRACKET
L |
@ Galv. STEEL DRUM e @ Galv. STEEL DRUM H I'_.” @
L ll F———
s i
S
% / T
/ P\ L
EARING ASSEMBLY |
BALL BEARING ASSEMBLY BALL BEARING ASS BALL BEARING ASSEMBLY

Galv. STEEL DRUM I

@ SHUTTER COVER \ @o@ HOUSING —\ OAVER’-’}‘P ,' @ OR@ HOUSING —\
7:,)/PE 3 MULL/ON: ’#(70)(7/2" S.M.S./i__l #10x1/2" S.M.S. = f70X7/2“ S.M.S.
6" EXTRUDED MULLION @ 4" o.c. @ 4" o.C @ 4” o.C.

6063—T6 ALUMINUM ALLOY

VARIES

\J N
/48 TAPCON
% ANCHORS (SEE

SECTIONS)

—@

FOR CASES W/0UT FOR CASES W/

HEADER USE
HEADER USE (2) ,y;oDx 1/2"
#10 x 1/2” SM.S. SMS. @ 6” 0.C
TO EACH SIDE RAIL - {
7/

Z

3

Y) WALL MOUNT HOUSING *

SCALE: 3/16" = 1"
3105~H14 ALUMINUM ALLOY
THICKNESS: .032"

@1) SHUTTER SIDE COVER *

Ftu= 410

<i] | \—OPTIONAL
@) CEILING MOUNT HOUSING *

SCALE: 3/16" = 1"

3105—H14 ALUMINUM ALLOY
THICKNESS: .032"

END BRACKET

SCALE: 1/2" = 1*
BRACKET DETAIL 1A - BRACKET DETAIL 2
7 ' 5.500"
72222 [ —
N \ 1/4"0 TAPCON _’_— |
ANCHORS (SEE S .
SECTIONS) ? S
< . —
]
/ & |—-2.250"—' o
FOR CASES W/0UT Z%’: ogésgggw/ ELEVATION AN
HEADER USE (2) 410 % 1/2" y
N sus @ & o,/ X SIDE BRACKET *
SCALE: 1/4" = 1"
OPTIONAL _ i 8 o £ 505 rnaton

NW/MM® % OF STRETCH

MINIMAL ON TEST. BAR OF 80 MM: 24 %
G~90 GALVANIZED COATING Thk.: .060"

SYSTEM

SCALE: 3/16" = 1’

* SEE NOTE 12 ON SHEET 1 OF 12

3105—-H14 ALUMINUM ALLOY

THICKNESS: .032 “\\\\NN““M”‘

W Yy,
<R A Ty, %,
\\\‘\ y,\;\‘—' -------- _[_[/) "’zf' FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
i § - €2 © 2010 TLTECO INC. ASSA/40mm BERTHA ROLL—UP o o
Approved as complying with the 3 : % e
le())gidaBu‘ ding Code = *: No' 44167 3/3/10
Daic O 2ole = X * I I EASTERN METAL SUPPLY, INC DATE
NOA# 0 Prod ;Cof,"ml e’ IL E c o INC. 3600 ZgrﬁVENUzé SouTH
Miami Dage Produc TILLIT TESTING & ENGINEERING COMPANY LAKE WORTH, FL. 33461 10—029
DlVlsmn / /M/ 6355 NW. 36th. St, Ste. 305 — VIRGINIA GARDENS, Fl. 33166 Phone; (800) 4322204, Fax: (561 ) 208-8380
By - Phone : (Jas)a?bl_;_sggésr;; g (305)871-1531 REV, No DESCRIPTION OATE | REV. Mo DESCRIPTION DATE DRAWING No
WF%WW WALTER A, TILLIT Jr., P.E. ! -" SHEET 3 OF 12

FLORIDA Lic. # 44167 2




TAPCON
ANCHORS
(SEE SCHEDULE ON

POURED CONCRETE OR
CONCRETE BLOCK

THIS SHEET) REQUIRED W
7 -

:

22

l///////////

NN

\\

Ea £9 1’
n_nlh B 5 ‘l

174" o e \
SECTION P — P (1) : WALL MOUNT

SCALE: 1/2" =

1/4°0x3/4" TEK
SCREWS @ 6" O.C.

7/4"Max
3R e | G == |
L ;<
__ I2_5) ]

I
L

TAPCON /
ANCHORS

(SEE SCHEDULE ON
THIS SHEET)

POURED
CONCRETE OR
CONCRETE BLOCK M4

REQUIRED ——\
LA

SECTION P — P (2) :

| I

\\\\\\\\\\\\\\\\\\
—

N

2"x2"x1/8" Cont. Alurm.
ANGLE W/ 1/4"%x3/4" o TEK
SCREWS @ 6" 0.C. TO SIDE
RAIL

INSIDE MOUNT

SCALE: 1/2" =

SIDE RAIL ANCHOR SCHEDULE

MAXIMUM DESIGN PRESSURE RATING "W (p. s. f.) AND

CORRESPONDING MAXIMUM ANCHOR SPACING(in)* FOR

SIDE RAIL (K) CONNECTION TO POURED CONCRETE OR

CONCRETE BLOCK WALL

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

MAXIMUM
DESIGN SIDE RAIL @
LOAD
W (p.s.f)
INSIDE BUILD—OUT
WALL MOUNT MOUNT MOUNT
= 5 5
80.0 OR LESS
- 5 =
5 » =
>80.0 TO 100.0
5 = 6

MASONRY

POURED CONCRETE

SUBSTRATE LEGEND

SECTION Q - Q :

W ©
o= @)

(2)1/4"0x3/4" TEK

—]

»

W~1 OR W-2

TAPCON
ANCHORS
(SEE SCHEDULE ON

THIS SHEET) —\

SCALE: 1/2" = 1"

POURED CONCRETE OR
CONCRETE BLOCK

REOUI:?EL; —\ z

i ////

1/4"8x3/4" TEK

SCREWS @ 6" O.C. N\

J I 2 | { T gl
27} ! £Q
n n a 2. 5
1/4"

SECTION P — P (3) :

BUILD-0OUT MOUNT

SCALE: 1/2" = 1"

* MAXIMUM ANCHOR SPACING (in.) AT SIDE

RAIL VERSUS EDGE DISTANCE =

E.D.

MAXIMUM SIDE RAIL ANCHOR SPACINGS SHOWN ON THIS
SHEET ARE VALID FOR 3" EDGE DISTANCE.

MULLION MOUNT (FACE MOUNT)

SECTION R - R :

W~1 OR W-2 D]}

SCALE: 1/2" =

1/4"x3/4" TEK

SCREWS @ 6" o.C.

1/4"0x3/4" TEK SCREWS @ 6" O'C'_-_Y
SCREWS @ 6” o.C.
[ ==, N ( & I
= e j | (== , . in il Il 2.5 i
—1/e* O\ C 174" = e
lox. Max. _—‘ = lax.

MULLION MOUNT (FACE MOUNT)

"

1/4” Max.
| |
T =]

S

i

-

[

"%3"%1/8", 2"x3 x7/8
3"%3"%1/8" OR 3'x4’x1/8"
CONT BUILD—-0OUT TUBE.
2"%2"%1/8" Cont.
ALUMINUM ANGLE

1/4"0x3/4" TEK
SCREWS © 6" 0.C.

SECTION R - R :

£Q | £Q

2"%2"%1/8" Cont.
ALUMINUM ANGLE

—®©
o= @)

MULLION MOUNT (INSIDE MOUNT)

SCALE: 1/2" =

\\\\\‘ RA. T
\“\ Q\\;\E ....... /l( FLORIDA BUILDING CODE (High Velocity Hurricane Z one)
“ a ‘\—\\’E’VS . ‘/ 2 DORAWN BY:
s . P © 2010 TLTECO INC. ASSA/40mm BERTHA ROLL—UP oy,
he s -

Approved as complying with ¢ s : NO, 4 1
Hondam%fe 3 ok 4757 EASTERN METAL SUPPLY, INC veno
bue 07/25 /2ol L% ILIEco st
NOA#[D~03/7- o4 INC. 3600 25rd AVENUE, SOUTH
Miami Dade Prodact Control TILLIT TESTING & ENGINEERING COMFANY LAKE WORTH, FL. 33461 10—-029
Division 8055 NI Sath Sk Ste J05 - VRGN GADENS, £l 3166 Phone: (800) 432~2204, Fax: (561) 2098380 DRAWING N
By . Phone : (303), EB—OOOG;;‘Q REV. No DESCRIPTION oATE | REV. No DESCRIPTION DATE °

- Al

TNy




POURED CONCRETE

W/ 4” MIN.THICKNESS

REQUIRED

(Fe=3000 p.s.i. MIN.)

1/4°2 TAPCON ANCHORS @ 6" 0. C.

MAXIMUM STORM BAR SPAN FOR THIS INSTALLATION TYPE
(SEE SCHEDULE ON SHEET 10)

ExisTING._!
Gass ~

1 SEE SCHEDULE
i ON SHEET

N
It

"’U)

I
|
!
|
|
|
|
I
:
|
f
|
|
f
|
|
|
!
I
|
|
!

-

N

Az

POURED

CONCRETE

W/ 4" MIN.THICKNESS

REQUIRED
(Fc=3000 p.s.i. MIN.)

1/4"2 TAPCON ANCHORS

@ 6" 0. C

i
AN

N 4
N _ "

/

L

w

1
[
|
!
:
|
|
[

SEPARATION
70 GLASS

|

.IQOF 12

|
[
[
|
J

.

©

)

(BEYOND)

i
|
|
|
!
|
|
|
-\}_

—Q
00

[ R

17 R

®

pou/gwcé

W/ 4" MIN.THICKNESS
REQUIRED
(fe=3000 p.s.i. MIN.)

7

/FO 1/4% TA

3

VSR

OR 1/4"8 CALK~IN ANCHORS
FOR 3/8'¢ KWIK BOLT TZ ANCHOR:

[

-

3.625" Min:

.000" Mi

7
Ay
o i i ’ DRAWN BY:
= Approved as gemcpiy(;ngmm the : S@ ® 2010 TILTECO INC. ASSA/40mm BERTHA ROLL-UP oV
Fiorida Buildin, C 2 . . .C.V.
(SEE SECTION "S” FOR ANCHOR TYPE REQUIRENENT) Date © zolo g NO I £ 3/3/10
SCALE : N.TS, NOA# - : 0 . = % . 44767 . £ I | EASTERN METAL SUPPLY, INC DATE
SECT/ON V - V {x)dii‘z:;;i)Da e Product Contro § - "7. * . ; l L E c o INC. 3600 2.5—5 SAi ng_‘l?é SOUTH
SINGLE SPAN SECTIONS AND DETAILS f o P A : % | JVLLIT TESTING & ENGINEERING COMPANY | LAKE WORTH, FL. 33461 10—029
A S 19,820 o irour > RN G SIS, | proe 000 o oo, o Co 200 gm0 ] peawe e
: EB-0006719 - Ho :
= > WALTER A, TILLIT Jr., P.E. 1 3
OUN & FLORIDA Lic. # 44167 p 7 SHEET 5 OF 12

FOR CASES
W/0UT HEADER

OPTIONAL
orie,

EXISTING GLASS —

+

2" (MIN)—

-

FOR CASES

\%-/EADER

©
Orio
©

(BEYOND)

| |
~— il |
s2 s2! T\rs@
| el
{ Is : s
M=
SEPARATION f 1.
0 GLASS H
; |
SEE_SCHEDULE
ON SHEET 4 OF 12 } '}'\{\CK)
{
A
| | |
2" m)—i  ~—l 1L | ! |

]

I

n

POURED CONCRETE

W/ 4" MIN.THICKNESS

REQUIRED

(Fe=3000 p.s.i. MIN.)

2'%4"(Max. )x 1/4°%0"~6" ALUM. ANGLE
W/ (2) 5/16° TAPCON XL ANCHORS
TO GROUT FILLED CONCRETE BLOCK

WALL AT EACH SIDE OR USE (2) 3/8% *,

KWIK BOLT TZ ANCHORS T POURED
CONCRETE AT EACH SIDE FOR ALL SPAN

& LOAD CONDITION.
USE (2) 1/4"83/4

7O STORM BARS AT EACH SIDE.

POURED CONCRETE W/~
4" MIN. THICKNESS
REQUIRED OR GROUT
FILLED CONCRETE
BLOCK WALL REQUIRED.

TEK SCREW

—~=0©®
—@

(BEYOND)

—FOR INSTALLATION
INTO HEADERS USE
(2) 1/4"9x3/4" TEK
SCREW EACH SIDE.

1 1/2%1 1/2%1/8"
x STORM BAR DEPTH
Alum, ANGLE EA.

SIDE
—\

Y4 =3/

}—@/

FanWWany /"</

N/ Y

-

0

(2) 1/4" x 3/4" TEK
SCREW AT EACH SIDE.

OO

TION S - S

SCALE : 1/2" = 1"

FOR INSTALLATION
INTO HEADERS USE
(2) 1/47"0x3/4" TEK
SCREW EACH SIDE.

1 1/2%1 1/2%1,/8"
x STORM BAR DEPTH
Alum. ANGLE EA.

= soE ~__
2!\‘ -
o ~) \/\
4 P
N
=
S
N LT[R

(2) 1/4"8—20 S.S. M.S.J
W/7/8"8x3/32" WING. NUT

CTION S - S (F

(0

R,

©

FOR INSTALLATIONS INTO CONCRETE,
USE (1) 1/4"8 TAPCON ANCHOR,
EACH SIDE AT CENTER OF ANGLE FOR
ANY SLAT & STORM BAR SPAN &
DESIGN LOADS UNDER 80psf.

FOR DESIGN LOADS BETWEEN 80psf
& 100psf, USE SAME CONNECTION W/
TABLE 5 FOR MAX. SLAT & STORM
BAR SPAN LIMITATIONS.

\_FOR ANY DESIGN LOADS GREATER

THAN 80psf AND ANY SLAT & STORM
BAR SPAN, USE (1) 3/8"8 KWK
BOLT TZ ANCHOR, EACH SIDE AT

1 1/2%1 1/2°%1/8"%0'-3

CENTER OF ANGLE

R FIXED STORM

FOR INSTALLATIONS INTO CONCRETE,

USE (1) 1/4"0x7/8" CALK~IN ANCHOR *,
EACH SIDE AT CENTER OF ANGLE FOR
ANY SLAT & STORM BAR SPAN & DESIGN
LOADS UNDER 80psf.

FOR DESIGN LOADS BETWEEN BOpsf

& 100psf, USE SAME CONNECTION W/
TABLE 5 FOR MAX. SLAT & STORM BAR
SPAN  LIMITATIONS.

FOR ANY DESIGN LOADS GREATER THAN

| ~~—80pst AND ANY SLAT & STORM BAR

SPAN, USE (1) 3/8"8 CALK—IN ANCHOR
*, CACH SIDE AT CENTER OF ANGLE

ABLE STORM

SCALE : 1/2" = 1"

1.000"

1.000” 1.000" 1.000"

POURED CONCRETE W/

4" MIN. THICKNESS
REQUIRED OR GROUT
FILLED CONCRETE

BLOCK WALL REQUIRED. /

f
|
i
|
|
-

£06E 0F —
WALL

2"%4"(MAX.)x 1/4% 0'—6"
~~_ ALUM. ANGLE EACH SIDE.

\ LW
POURED CONCRETE \n

~

POURED CONCRETE W/
/ 4" MIN. THICKNESS
s REQUIRED OR GROUT
4 FILLED CONCRETE
BLOCK WALL REQUIRED.

|
|
|
T
il
Isr I s1
——1—®)
T ~ 3 } ///
Vd
' 3 o
Lo [IN /7 0
‘ | l] / li
| i/
I ! i1y
i | 1y
| | |1
' ' Hi
[ ' I
i ! {1y
t { (|t
' | I iy 4® aw.
i @ I : THICKNESS REQUIRED
I'* _ 4 J (Fe=3000 p.s.i. MIN.)
Eq T"eq' /

[ l\\
]

L

rowr

I_'_I

Typ.

@0/?@\/

SECTION S1 - S1'

(2) Yaox3/4"
TEK SCREW

vk <] AT EACH SIDE.

11/2" x 1

ALUM. ANGLE EACH SIDE AS
SHOWN_ON SECTION S-S

~—1.5"—= 1/2" ALUM. ANGLE W/ (1)
1 7564=750 @ 3/8% KWIK BOLT TZ ANCHOR
© AT EACH SIDE.

i R\

M

S @)

o)
3 Y
8
R
o
L(2) s x 3/4” TEK SCREW
\_eose or QUL ke

SECTION S2 - S2
SCALE : 1/4" = 1”

X1/4"6-20 OR 3/8°6—16 MACHINE

SCREWS USED JOINTLY W/ 1/4"8x7/8" OR

3/8"8x1 1/4" CALK—IN ANCHORS

RESPECTIVELY SHALL BE LEFT TOGETHER

W/ ANCHORS AT THE TIME STORM
ARE REMOVED. (SEE DET. A).

BARS

q» ‘\\

c ™~ ANCHOR

< ——

DEIUQIL A
SCALE : 1/2" = 1"

T~ MACHINE SCREW FULLY
4 EMBEDDED INTO ANCHOR

JABLE 5

" DESIGN L* MAX,

LOAD MA’S‘P A%AT STORM BAR
W (p.s.f.) SPAN

70" 5"

80.0 0o o

0" =7

100.0 o Ll

2"%4"(MAX.)x1/4" CONT. ALUM.
ANGLE, W/ CONCENTRATION OF (4)
5/16" TAPCON XL ANCHORS TO
GROUT FILLED CONCRETE BLOCK
OR POURED CONCRETE WALL © 4"
O.C. AT STORM BAR LOCATION AND
REST 1/4"8x1 3/4" TAPCON @

1/2" x 1/8"

\

\
\@OR ( :
s |

!
t
/'
—~B
= /

/
2"%4 "(MAX, )x1,/4"

: \/LCDNT. ALUM. ANGLE
rd
-’

12" O.C./——————

SCALE : N. T. S. i

T

et

12 12"

4" g —g” 12"

12%—f-12"

12"

ALTERNATIVELY TO 5/16"2 TAPCON ANCHOR;
USE CONCENTRATION OF (2) 3/8°¢ KWIK
BOLT TZ ANCHORS TO POURED CONCRETE
WALL @ 4" 0.C. AT STORM BAR LOCATION
AND REST 1/4"8x1 3/4" TAPCON @ 12" O.C.

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

ELEVATION Zi \

SCALE : N. T. S.




f

POURED CONCRETE
W/ 4" MIN.THICKNESS y ) INTO HEADERS USE @
RéOUIRED 1/4"8 TAPCON ANCHORS @ 6" 0, C. / 1/48 TAPCON ANCHORS @ 67 0. C. (2) 1/4%0x3/4" TEK "1 1/2%1/5" " »
(Fe=3000 p.s.. MIN, / REW £ACH SDE. | (2X1 1/2°%1/ 1 1/2°%1 1/2°%1/8"%0'~4" ALUM.
> ~ 3¢ T x STORM BAR EZEPT"’ 1.5 OR  ANGLE W/ (1) 3/8"% KWK BOLT
/ - \\ A2 SIDE ' FOR INSTALLATIONS INTO CONCRETE, —750%4=750 z C%/OZR' ' ﬂnglengD‘gNT
N = USE (2) 1/4"¢ TAPCON ANCHOR, .
/ 27T h _\ EACH SIDE AT CENTER OF ANGLE FOR |
’ N I ANY SLAT & STORM BAR SPAN & ;
g POURED CONCRETE / \ & D N N DESIGN LOADS UNDER 80psf. o
” oYe! W/ 4" MIN.THICKNESS S \ Ui NI O/ FOR DESIGN LOADS BETWEEN 80psf :
i ol o = REQUIRED \ | l AN & 100psf, USE SAME CONNECTION W/
i S , > (Fom3000 psl WN) _/ /I f & TABLE 54 FOR MAX. SLAT & STORM
i T ’ \ ' BAR SPAN LIMITATIONS. :
o W - S OO
I ! - N FOR ANY DESIGN LOADS GREATER &8
i I : ) // / / [N THAN BOpsf AND ANY jLAT & STORM S
- p ” BAR SPAN, USE (1) 3/8"¢ KWIK
i : : / 4 / / (3) 1/4% x 3/4" TEK oR BOLT 12 AncHoR, Eic soe a7/
1 I | 7 SCREW AT EACH SIDE. CENTER OF ANGLE 75 s T o Tee o
4 4
i I I e - L1 ! P ror cases \—ffjff oF AT EACH SIDE.
i L “ | rop cases 1000 [ WouT e SECTION R _FIXED STOR
l L g (MIN)———: } W,/OUT HEADER Il 1 SCALE : 12" = 1" SECTION S2 ~ S2
= | i = ! l FOR INSTALLATION SOALE - 1/4 = 1"
i [ | | i INTO HEADERS USE : =
OPTIONAL [ »
l I I 2) 1/4"0x3/4" TEK " oy o
i ' | . : } gcrefﬁ eacH siE. | 1/2%1 ’/g "’é’;’_’ FOR INSTALLATIONS INTO CONCRETE, : i
I I AL 2" (MIN)——], | ) ;/uﬂoi%g} EZE USE (2) 1/4°9x7/8” CALKIN ANCHOR*, [¥T7/476-20 OR 3/8'9—16 MACHINE
f ! f I [ 3/4 SoE s EACH SIDE AT CENTER OF ANGLE FOR SCREWS USED JOINTLY W/ 1/4"9x7/8" OR
" /J'[ } : OR : ~—! ANY SLAT & STORM BAR SPAN & DESIGN 3/870x1 1/4" CALK—IN ANCHORS
EXISTING ™ LOADS UNDER 80psf.
% GLASS ll : I 52 { szl @ @ N FOR DESIGN LOADS BETWEEN 80psf RESPECTIVELY SHALL BE LEFT TOGETHER
g 0 S { i 1 ‘ i H o N N & 100psf, USE SAME CONNECTION W/ W/ ANCHORS AT THE TIME STORM BARS
3 I Lo l T i g O TABLE 54 FOR MAX. SLAT & STORM BAR ARE REMOVED. (SEE DET. A).
3. I : I ] EXISTING GLASS —— | | X SPAN LIMITATIONS.
N i A ' N NP, - TEES
k4 I [ ] [ )~"~~|  FOR ANY DESIGN LOADS GREATER THAN v
ol i | | | | @ ey | | N ~~—80psf AND ANY SLAT & STORM BAR L MACHINE SCREW FULLY
T N 2 » - *
E& i | i (I { SEE SCHEDULE | Hi— N Nl 7 SPAN, USE (1) 3/8's CALK-IN ANCHOR®, EMBEDDED INTO ANCHOR
z I I { i | ON SHEET 9 OF 12 | | ' : EACH SIDE AT C =, .
g f ! ' I | LA I I J \— g P ANCHOR
33 H | : ' ' v/ l . (2) 1/4°8-20 S.5. M.S. ®0R® |
&8 separamon L I ! - ] | | ! (BEYOND)  W/7/8"0x3/32" WING NUT 7
3 | TO GLASS  _| S 2" (MIN)—] =] | ! A
£5 " SEE SCHEDULE ! '\—@ | ! l % DETAIL
Wy ON’ SHEET 9 OF 12 | { | —_—
34 I b ] | i ! SECTION S = S (FOR REMOVAB SCALE : 1/2" = 1"
S l I { { i ! ! -
5 i L i ! t | | | | SCALE : 1/2" =
- : : : 52 | 52 I : . TABLE 5A
3 | I B _, 10007 _1.000" _  _, 1.000" 1.000"
§ (BEYOND) ! ' “ J}\}'\@ POURED CONCRETE W/ 1 1 DESIGN MAX. SLAT " MAX.
3 m i ' ' ‘ ’ | | 4" MIN. THICKNESS i i LoAD SPAN | STORM BAR
i ! | I | l REQUIRED OR GROUT W (p.s.f) SPAN
i [ | I T FILLED CONCRETE \ | 07 =17
fl : } | I I |\® BLOCK WALL REQUIRED. / 80.0 5 5"
1 I I - -
! : i H—— | ! I EDGE OF—" e e 100.0 =0 9-2"
i [ ! [ I\@ = H ; * (BEYOND) WALL oy (4) % 'ox3 /4" : 4'-0 6'—11
I I il I : Ist 1 s , L\ TEK SCREW
! | i i | Vg / | ! ? Tt - 2%5(MAX)x1/4% 0'-6 Nphe 2l AT EAcH SIDE.
H I 4\% Pgum‘u CONCRETE - A L e ~~ ALUM. ANGLE EACH SIDE. 28" (MAX,)x1 /4" CONT, ALUM
i I | W/ 4" MIN.THICKNESS o == % X . .
i ' ' | |\@0R® R ) " i AN ,//m i Y ANGLE, W/ CONCENTRATION OF (6)
o= .S.1 . T ”
P e i~ A W voo|B—@® il ©er o7 o e
| | ! ! } 2%5"(Wax, )1 /4°%0"6" ALUM. ANGLE f | P/ I | @OR®/ Ve 1 12 x L R POURED CONCRETE WAL © 4°
I , i i i W/ (2) 5/16% TAPCON XL ANCHORS r/ l by : :\@OR ALV, ANGLE "EACH SIDE 4S O.C. AT STORM BAR LOCATION AND
t ! ] ! ! | i ! 10 GROUT FILLED CONCRETE BLOCK | ! Iy . | 1K o oo s REST 1/4%8x1 3/4" TAPCON @
” s i $ I il S WALL AT EACH SIDE OR USE (2) 3/8" % | i i : : . | SECTION S1 - 31 12 0.6
i : ; - s KWIK BOLT T2 ANCHORS TO POURED ! | I D, | / _
i g8 COMCRETE AT EACH SIDE FOR ALL SPAN | | i n o // 600 ! SCALE : N. T. §. 1" 1F ¥ ¥
& LOAD CONDITION, h
“ J%—_—OO o 000 @ USE (4) 1/4°03/4" TEK SCREW : : : ' POURED CONCRETE iy ™4 /,' @ T{-ﬁ' ® & f { %
o TO STORM BARS AT EACH SIDE. | WITH 47 MIN. ¥
/ﬁ 4o I 7 : ;/;(/cﬁvat;sos REQUIRED ) \2‘5r4"(MAX)x1/4" 12% 12" 4" e 4" e 4" 4 —|— 4" 12° 12"
s POURED CONCRETE #/~7 | e G CONT. ALUM. ANGLE ALTERNATIVELY ro_5776"¢ TAPCON ANCHOR,
4" MIN. THICKNESS 1 / A
L’ l" REQUIRED OR GROUT \T/ "14 /JT Eys ZQUMR/ﬁ? ﬁ,‘,’é’,f,’fgg W < USE CONCENTRATION OF (2) 3/8"® KWIK
POURED GONCR: FILLED CONCRETE < /% Requiren or Grout __ ¥ __ —- BOLT TZ ANCHORS TO POURED CONCRETE ELEVATION / 2 \

1/4 @ TAPCON ANC ORS

W/ 4" M/N THICKNESS
REQUIRED
(Fe=3000 p.s.i. MIN.)

OR 1/4"¢ CALK~IN ANCHORS
FOR 3/8°¢ KWiK BOLT TZ ANCHOR:

BLOCK WALL REQUIRED.

SCALE : N.T.5.

(SEE SECTION ‘S* FOR ANCHOR TYPE REQUIREMENT)
SCALE : N.TS.

SECTION V —

4

SINGLE SPAN SECTIONS AND DETAILS
ARE SIMILAR TO ABOVE SHOWN WITHOUT
STORM BAR & HEADERS.

AN v
- BLOCK WALL REQUIRED,

FILLED CONCRETE

—FOR INSTALLATION

Apvproved as complying with the
Florida Building Cpde

Date @ o l o
NOA#

Miami Dade Product Comrol
Dwmonlf

MIAMI-DADE COUNTY

WALL @ 4" 0.C. AT STORM BAR LOCATION

AND REST 1/4%x1 3/4” TAPCON @ 12" O.C.

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

SCALE : N. T. S.

© 2010 TILTECO INC.

/ TILIEC O rme. \

TILLIT TESTING & ENGINEERING COMPANY

6355 N.W. J6th. St, Ste. J05 — VIRGINIA GARDENS,
Phone :

(J05)571 ~1530 . Fox :
EB-0006719

WALTER A TILLIT Jr,

33168
(305)871— 15.71

P.E.

FLORIDA Lic. # 44167

ASSA/40mm BERTHA ROLL—UP o o
EASTERN METAL SUPPLY, INC o0
(assA # 2)
3600 23rd AVENUE, SOUTH

LAKE WORTH, FL. 33461 10-029
Phone: (800) 432-2204, Fax: (561) 209-8380 DRAWING No

REV. No DESCRIPTION DATE REY. No DESCRIPTION DATE

; : SHEET 54 OF 12




POURED CONCRETE
W/ 4" MIN.THICKNESS
REQUIRED

(F'e=3000 p.s.i. MIN.)

1/4"9 TAPCON ANCHORS ©® 6" 0. C.

IYe., JYP.

EQ  EQ

POURED CONCRETE
W/ 4" MIN.THICKNESS
REQUIRED

(f'e=3000 p.s.i.

FOR INSTALLATION
INTO HEADERS USE
(3) 1/4"8x3/4" TEK

2" x 2" x 1/8" x 0'~4

”

FOR INSTALLATIONS INTO CONCRETE,
USE (2) 1/4"¢ TAPCON ANCHORS, EACH
SIDE, EACH ANGLE FOR ANY SLAT &
STORM BAR SPAN & DESIGN LOADS
UNDER 60psf.

FOR DESIGN LOADS BETWEEN 60psf

& 100psf, USE SAME CONNECTION W/
TABLE 5B FOR MAX. SLAT & STORM
BAR SPAN LIMITATIONS.

O\ FOR ANY DESIGN LOADS GREATER THAN
[ BOpst AND ANY SLAT SPAN, & STORM

BAR SPAN, USE (1) 3/8"@ KWIK BOLT
TZ ANCHOR, EACH SIDE AT CENTER OF
ANGLE.

@ 7f
/L

24

B

ON SHEET

(SEE SCHEDULE ON SHEET 10)

MAXIMUM STORM BAR SPAN FOR THIS INSTALLATION TYPE

]

®

®
OL1O

3" Min:

POURED CONCRETE |
W/ 4" MIN.THICKNESS FOR 1,/4"¢ TAPCON ANCHORS: t
REQUIRED OR 1/4°0 CALK—IN ANCHORS

(Fe=3000 p.s.i. MIN.}

FOR 3/8"8 KWIK BOLT TZ ANCHORS—t———3 5/8" Min:

6" Min:

FOR 1/2"8 CALK—IN ANCHORS

( SEE SECTION °S” FOR ANCHOR TYPE REQUIREMENT)
SCALE : N.T.S.

FOR CASES o
W/OUT HEADER Lua

OPTIONAL

2" (MIN)—e

EXISTING
GLASS

SEPARATIC
ON SHEET 4

T
~—=GLASS SEE SCHED

\—(2) 3/8" S.S.

THRU BOLTS W/ NUT

1.1/2%1 1/2"%1/8°%0"-4"
ALUMINUM ANGLE W/ (1) 3/8°8
KWIK BOLT TZ ANCHORS AT

EACH SIDE, LIMITED TO

195psf
" Max.

AN i DESIGN LOAD AND 7'-2
STORM BAR SPAN
] T
P
A ‘ O

X

SCREW EACH SIDE. Alum. ANGLE EACH SIDE
—3/4"=3/4"
1 D o
be) [
I OE
U0
A
1
\_@ F1
SECTION S —~_S _(FOR FIXED STOR
FOR CASES

W/0UT HEADER [~FOR INSTALLATION SCALE : N.T.S.

INTO HEADERS USE

(3) 1/4°6x3/4” TEK 2" x 2" x 1/8" x 0'—4" SCALE : N.T.S.
EACH SIDE, EACH ANGLE FOR ANY SLAT &
SCREW EACH SIDE. Alum. ANGLE EACH SIDE STORM BAR SPAN & DESIGN LOADS UNDER :
N34 --3/4"— 60psf. v <
% | - FOR DESIGN LOADS BETWEEN 60psf A
XA & 100psf, USE SAME CONNECTION W/ v
g " TABLE 58 FOR MAX. SLAT & STORM BAR <
f SPAN LIMITATIONS. 2
O O\ | FOR ANY DESIGN LOADS GREATER THAN a \/\
. B0psf AND ANY SLAT SPAN, & STORM BAR '
g, .L______E ] % O SPAN, USE (1) 1/2"8x1 1/2" CALK—IN MACHINE sc;aéw >
l §,§ ANCHOR * EACH SIDE AT CENTER OF FULLY EMBEDDED AANCHOR
' ANGLE. INTO ANCHOR  geAlE + NLT.S,
2) 3/8" # 5.5
F1 %U/BOLTS W/ NUT *1/4"9-20 OR 1/2°6—13 MACHINE SCREWS USED JOINTLY
_ W/ 1/4'%x7/8" OR 1/2°0x1 1/2" CALK~IN ANCHORS
TION S S (FOR REMO R. RESPECTIVELY SHALL BE LEFT TOGETHER W/ ANCHORS
SCALE : N.T.S. AT THE TIME STORM BARS ARE REMOVED. (SEE DET. A).

\— EDGE OF

USE (2) 1/4"2x7/8" CALK—IN ANCHOR *,

WALL

\
@\_ (2) 3/8" S.S.

THRU BOLTS

FOR INSTALLATIONS INTO CONCRETE,

SECTION S2 — S2

POURED CONCRETE W/ 4" MIN.

! HICKNESS REQUIRED OR ABL
GROUT FILLED CONCRETE —
b 2" (MIN)—]( (BEYOND) 7 e — "— BLOCK WALL REQUIRED. DLE OSA%N MAX., SLAT L™ MAX.
i e L SPAN STORM BAR
; y w” (p.s.f.) SPAN
3-0" 12'=9"
[ .
5*2 [ 60.0 =0 o
: — =57 T
| | : . 0" 55"
I & ‘3;__ 0 13 9'-— 2 7
| 2" x 5" x 1/4" EDGE OF 1000 4207 6117
! x 06" ALUM. -~ WALL W
- | \® ANGLE EA. SDE N & DESTGN T MAX
o MAX. SLAT :
i P (BEYOND) w2080 Soan | STORM BAR
L JED/n. (4) 1/4% SS. W” (p.s.f.) SPAN
£_rE/ s / / ___________ THRU BOLTS 3=0" 117=2"
POURED” CONCR N @ - N 100.0 20" 9'-8"
» Q ~
%‘JZ’R%MTHICKNESS ¥ ; /ﬁ~/\-/\r' ~— ! I = 2"%5"(MAX.)x1/4" CONT. ALUM. ANGLE, W/
(f'e=3000 p.si. MIN.) - 4 1 : N ” : { { \\ SCALE : N.T.S. CONCENTRATION OF (6) 5/16" TAPCON XL
25 /30 k. wiE =w/10 ol |/ | O Ators o CRouT 1iZD CONCRETE
W/ (2) 5/16°0 TAPCON XL ANCHORS TO 1) ! I | ¢ ! f \ @ 4" 0.C. AT STORM BAR LOCATION AND
GROUT FILLED CONCRETE BLOCK OR ' 1y | i \ 1 1/2%1 1/2°%1/8" ST 1/4%x1 34" TAPCON @ 12° 0.C
POURED CONCRETE WALL AT EACH SIDE // } i s ! ! \ ALUM. ANGLE EACH SIDE AS R 1 3/ v Je U
FOR ANY CONDITION UNDER 100 psf | | i H NS | SHOWN ON SECTION 5—S FOR ANY DESIGN LOAD AND 5°-8" Max.
USE CONDITIONS SHOWN ON TABLESW, - ! | o \@ , STORM_BAR_SPAN _LIMITATION
OR USE (2) 3/8°0 KWk BOLT T2 | i . ! r =] ; ¢ |
ANCHORS TO POURED CONCRETE AT i I| | ROURED CONGR .o -D. o o© / Y .
EACH SIDE FOR ANY SPAN & LOAD ‘ | | l THICKNESS REQUIRED :_’ / — @ -4 o= [+] (=] © ‘? ? Q 4
COMBINATION. | I}/ (fem3000 ps.ic MIN.) /
USE (4) 1/4" S.S. THRU BOLTS | AN " x 1/47 x . . i . . y
TO STORM BARS AT EACH SIDE. | <y g N CONT. ALUM.” ANGLE 12 12" 4" 4" 4 4 ¢ 12 12
7 i J O _ || POURED CONCRETE w/ 4 s ALTERNATIVELY TO 5/16" TAPCON XL
' ~ - MIN. THICKNESS REQUIRED
POURED CONCRETE W/ 4" M. ] i (2) /5% KHIK BOLT T2 ANCHORS T0
THICKNESS REQUIRED OR GROUT FILLED boURED ETE WALL © 4" O.0. AT
CONCRETE BLOCK WALL REQUIRED. CONCR L -C. SCALE : N. T. S.
g STORM BAR LOCATION AND REST

SCALE : N.T.S.

1/4%x1 3/4” TAPCON @ 12" 0.C.
FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

SECTION V = V

SINGLE SPAN SECTIONS AND DETAILS
ARE SIMILAR TO ABOVE SHOWN WITHOUT
STORM BAR & HEADERS.

Appreved as complying with the

Florida Building Code

Date _ 2 olo
NOA#/g-0217:04
Miami D/;x;c Product Control

Division, J/é;/’) /7 M/

By
MIAMI—~DADE COUNTY

® 201D TILTECO INC,

/TILIEC O me, \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th. St Ste. 305 - VIRGINIA GARDENS, Fl. 33166

ASSA/40mm BERTHA ROLL—UP | °%%.2
EASTERN METAL SUPPLY, INC v
(ASSA £ 2)
3600 23rd AVENUE, SOUTH
LAKE WORTH, FL. 33461 10—-029
Phone: (800) 432-2204, Fax: (561) 209-8380 DRAWING No

Phone : (305)871-1530 . Fax : (305)871~1531
EB—~0006719

REV. No

DESCRIPTION

DATE

REV. No

DESCRIPTION

DATE

WALTER A. TILLIT Jr., P.E.

1

J

) FLORIDA Lic. # 44167

2

4

SHEET 58 OF 12

(/TR Y
TEITRERIRNINYTY



SEE SHEET 9 OF 12

FOR Min. SEPARATION
70 IGLAS' .IS‘

3'%3"(Max.)x1,/8" Cont. Alum. TUBE W/ N 3%4"(Min.)x1/8" Cont. Alum. TUBE W/ I‘*’/ 4" -3/4 ‘1
2'%2°x1/8"%0°-3" (Mox.) ALUMINUM 1747 x 3/4" TEK SCREW @ 12" 0.C. TO TUBE  2"%2"%1/8°x0—4"(Min.) ALUMINUM 1/4"8 x 3/4" TEK SCREW @ 12" 0. C. TO TUBE n ,
ANGLE TO BUILD-OUT TUBE W/ \ ANGLE TO BUILD-OUT TUBE w, L T FOR INSTALLATIONS AT TUBE &
/ NS | N Q | —— n »
(3)1,/478X3/4" TEK SCREWS EA. LEG & (3)1/4"0x3/4" TEK SCREWS EA. LEG NS N HEADERS USE (2) "8 x 3/4" TEK
1/4° TAPCON ANCHORS ® 12" O.C. & 1/4°8 TAPCON ANCHORS @ 12" 0.C: ——O E]’QW@WK} SCREW EA. SIDE FOR (€)& (D) STORM
FULL LENGTH TO POURED CONCRETE o FULL LENGTH TO POURED CONCRETE. _ b BARS & (3) W6 x 3/4" Té_)
- i —_— Aw HH SCREW EA. SIDE FOR (E)& (F) STORM
/ -+ H-
AN ooneo -~ AN O B¥very j O BARS.
POURED CONCRETE 42 / CONCRETE g & Jet—O Ejﬂ'm:t]:\f—a \@@ @Or@
REQUIRED \ ' ~ \® REQUIRED ‘ = N \ N
£ [
3 — —\ 5 ' T USE (2) %"0 x_3/4" TEK SCREW
: coo / : ©o 0 \———54 SIDE FOR (©) & (D) STORM
" FOR CASES o) g ®
s3 53 | ’ \® 1 1/2°%1 1/2'%1/8" x BARS & (3) %% x 3/4" TEK
R S3 4
s l A N _ W/OUT HEADE! L] e ) STORM BAR DEPTH Atumn SCREW EA. SIDE FOR (E)& (F)
//// / | _ ANGLE EA. SIDE STORM BARS.
1 FOR CASES
‘ / ‘ W,/OUT HEADER SECTION 3
L ’ ‘ < s} \_ I | ‘ l OPTIONAL - -~ S;S i
! l OPTIONAL l SCALE : 1/2" = 1"
y ~e | | ®
S o
J @ t ‘ ’ @G, @ N 1 1/2'%1 1/2"%1/8"%
000 @ or @ ¥s STORM BAR DEPTH Alun.
2" in | 2wl | Lol P N £ S | S 1 Y O ANGLE EACH SIDE
] o B — F—
I + [ s3 453 l SJ e O
l\ i [ . C—-————-———--—Q—.O
1) o (D) poor or o | <3 B ==t
oo [ ‘ l WINDOW GLASS AN
DOOR OR
WINDOW GLASS ] I »
‘ ‘ (3) % x 3/4" Tex (2) 3/8" S.5. THRU

. () SCREW EA. SIDE BOLTS W/ NUT
SECTION _S3 S3

SCALE : 1/2" = 1*

SEE SHEET 9 OF 12 s
FOR Min. SEPARATION ]\r
0 anss. ’ !

©@®E or

WHEN APPLICABLE

(BEYOND)

>® (BEYOND)
USE CONCENTRATION OF
(SEE SCHEDULE FOR QUANTITY)

5/16"0 TAPCON XL ANCHOR TO
GROUT FILLED CONCRETE BLOCK OR

1.1/2" x 1 1/2" x 1/8" x STORM

V POURED CONCRETE WALL @ 4" O.C. BAR DEPTH Alum. ANGLE
L] BUILD-0UT TUBE- AT STORM BARS LOCATION OR USE (SEE SECTION S3 - S3
(BEYOND) CONCENTRATION OF (2) 3/8"8 KWIK AS APPLICABLE)
I BOLT TZ ANCHOR TO POURED

CONCRETE WALL @ 4" 0.C. AT

STORM BARS LOCATION 2" x 7" Max. x 1/4" Cont.

ALUMINUM ANGLE (CASE 1)

—— : ——————t ———
* 12" 12" ——~f—4" 4" 4" 4" ety ” 4" 12" 12.000"
s3 /
4"%6"x1/4” Cont. " \
ALZMM@ TUBE ELEVATION ﬁ 1/4"8 TAPCON ANCHORS ©

12" 0.C. (TYP. AT EACH SIDE,

(CASE I ONLY) SCALE : 1/8" = 1" BEYOND CONCENTRATION)

ANCHORS & STORM BARS SCHEDULE FOR ELEVATION /X\

2.000" Min.

™
A
Q
A

BUILD-OUT TUBE
(BEYOND)

| |

S3

|
]
Z / |

M/n

O
Q
Q
Q
Q
Q
®
!‘4.5" M> N
]
i —
i O
*!Xl»] @]

4.5"

E.D.
H

il
H

ol

il
H

T

£

—f 3 2" x 3 (Min,) x 1/4" Cont. ANCHORNTYP € & STORM BAR TYPE
2'%7"(MAX.)x1/4" CONT. ALUMINUM ANGLE W/ CONCENTRATION QUANTITY

L] ] L
- N
SN QJ ALUMINUM “ANGLE | OF (5) 14 x 112" TEK SCREW
cronearaaoN OF fodurion, st o 12 o R (3) 5/16" # TAPCON XL @@

ANCHORS SPECIFIED

ON SCHEDULE.
(5) 5/16" @ TAPCON XL @ @
POURED CONCRETE WITH 4" "

3/47—
3/4"

MIN. THICKNESS REQUIRED OR POURED CONCRETE WITH 4
GROUT LD coNCriRE MIN. THICKNESS REQUIRED O x 1/4 CONT. (7) 5/16" & TAPCON XL @
BLOCK WALL REQUIRED GROUT FILLED CONCRETE W@
. CA SE / BLOCK WALL REQUIRED. \\\ E@g ET’EO ANCHORS
CASE | \\“‘k\ﬁ YSPECIFIE . . .
3 % FLORIDA BUILDING CODE (High Velocity Hurricane Zone
> . 3 Y A% g Ly
= s . A
3 . . _ DRAWN BY:
Appioved as complying with the § > No. 44167 . © 2070 TILTECO INC. ASSA/40/’T7/’T7 BERTHA ROLL-UP MCV.
SCALE : 1/4" = 1* Florida Buiiding Cpde = * . M
: : 3/3/10
D 07/25/20l0 ok : Z 'I—'I——I LIEC O \ EASTERN METAL SUPPLY, INC /5
, I—O——J’BJ > < ; (ASSA £ 2)
SINGLE SPAN SECTIONS AND DETALLS SECTION V - V Miami Dade Product Controt E INC. 3600 23rd AVENUE, SOUTH
ARE SIMILAR TO ABOVE SHOWN WITHOUT TILLIT TESTING & ENGINEERING COMPANY LAKE WORTH, FL. 33461 10—029
STORM BAR & HEADERS., 6355 NPv'/m :.61:'! (;55)85;7 ?gga- fgﬁcm/?sggfgm.’ 5517 33166 — Phonf;;f:sr% 432—-202‘(::, F::; fsl) zifs-;:;}nig — DRAWING No
EB-0006719 - N d
WALTER A. TILLIT Jr., P.E. 1 s
FLORIDA Lic. §# 44167 2 7 SHEET 6 OF 12




POURED CONCRETE W/

1/4"8 TAPCON ANCHORS
W/ 1 3/4" MIN.

4" MIN. THICKNESS ) . ) / A L
REQUIRED (F'e=3000 psi) it 1 EMBEDMENT ® 6" O.C. 1/4"8 TAPCON ANCHORS / (3) 1/4"9x3/4" TEK SCREW EA. LEG.
. L . N (TOP/BOTTOM)
/ W/ 1 3/4" MIN: mmmm=m=a
/ EMBEDMENT @ 6" 0.C. r N N
o o 7N N 2"%2"%1/4"%0'~6" (6061-T6 ALLOY) Alum.
| I S POURED CONCRETE W/ / \ I AﬁGLE E/A SIDE W/ (2) 5/16"8 TAPCON XL //0 \ __ _ _ . _. ..
T 47 MIN. THICKNESS N W/ 1 1/2" Min. EMBEDMENT WALL, OR ——~& A I — R
POURED CONCRETE W/ REQUIRED l S \ I USE (2) 3/8°8 KWIK BOLT TZ W/ 2" Min. X
| 4" MIN. THICKNESS
. s g FEQUIRED \ i EMBEDMENT TO POURED CONCRETE WALL A
1 1/2%1 1/2'%1/8% MULLION_] | AN / (4" MIN. THICK)
DEPTH Alum, ANGLE (EACH SIDEJ ~_ -~ )) - K- \ il
W/ (2) 3/8"¢ KWIK BOLT TZ | | P USE (2) 3/8'0 THRU BOLTS TO MULLION. i 1
N W/ 2% Min. EMBEDMENT TO SLAB | | ._@ _:// BEYOND T )
(Typ. TOP & BOTTOM). | i o= [ , [
h | | ! <:( POURED CONCRETE W/ I Y
& | e ; " MIN. THICKNESS . | 7
EQUIRED -
ﬁ 4 = PEOO ] N
i @O | = -
o . 00,0, |
¢ | DD @ur ror wnezy e
IS . (2) 2"4"x1/4"x0°=5" Alum. ANGLE W/ i
" NO HEADER & STORM BAR ALLOWED.
z ‘Af,-,-,,‘l | / (4) 1/4"¢ THRU BOLT TO HEADER & 2" : I usT sgur ROLL UP MULLIONS &
8 | | (4) 1/4"0x3/4" TEK SCREW @ 3" LONG / I%3'%3/8%0'~3" (6061-T6 ALLOY) W/ (2) 3/8"0 KWIK BOLT TZ W/ 2" Min. i TRACKS W/ FACE MOUNT.
” / gt Min. I
3 | | ANGLE & (8) @ 6" LONG ANGLE / (4) 1/4%x1" TEK SCREW TO HEADER & EMBEDMENT TO WALL. | |
g / (1) 1/2% KWK BOLT TZ W/ 3 1/4" USE 2"%7*%1/4"x0"~5" Alum. ANGLES o ! |
g | | FRIK/8% 0'-3" (6061~T6 ALLOY) Alum, ANGLE AT / Min. EMBEDMENT TO WALL. FOR CASES W/ 3" BUILD~OUT TUBE. gﬂssgNG t
o I [ SINGLE SPAN & 3%3"x3/8"x0'~6" (6061~T6 ALLOY) / i
2 xsThe — | | Alum. ANGLE AT MULTIPLE SPAN W/ (1) 1/2% THRU / | |
. ExeTivG /\l BOLT AT SINGLE SPAN & (2) 1/2°% THRU BOLTS AT l l
& MULTIPLE SPAN. USE 7/8"¢ 0.D.x Yo' THICK WASHER
‘; /\/ l W/ THRU BOLTS. 4 b ALTERNATIVE: 2 | |
<
g | | ] . - | J\l I
§ ' l ALTERNATIVE: 1 SCALE : 1/8" = 1" | N |
3 Q/4 OR R/4 | | Q/4 OR R/4 M : SECTION W-—
3 ? | [ ? SCALE : 1/8" = 1" ] |
3 ' l I
3 i I I [
- oY
i | NOTE: {
OR THIS INSTALLATION IS ONLY VALID FOR STORM BARS | |
I~ I WITH MAX. SPAN= 7°-0", HEADERS CON 12'—0" MAX. [ | @m@
| | SINGLE SPAN & 80 p.s.f. MAXIMUM DESIGN LOAD, OR
| (| }— @ 1/2" ¢ mru goLrs STORM BARS WITH MAX. SPAN = 6'-0°, HEADERS WITH | |
Vg (Tyo. TOP & BOTTOM) 15'-0" SINGLE 80 p.s.f. MAXIMUM DESIGN LOAD. |
o o Ll food 1%1%1/1 T. ALUM ANGLE
= < "x1"x1/8"xCONT. AL
N POURED CONCRETE W/ \\\\\\ \\kx W/ 1/4"9x1/2" TEK SCREW
k 4" MIN. THICKNESS 3 I @ 12" 0.C
REQUIRED (f'c=3000 psi)
Ly~ . =
L.5” Min. Typ: o= |
FLOOR/CEILING MOUNTING : @— INEE
O— [N
CTION w-W (1 @ @CDOR J SN oL N 2%2%1a0-6" (6061-T6 ALLOY) Alum.
- POURED CONCRETE \- || ANGLE EA. SIDE W/ (2) 5/16"@ TAPCON XL
w—-w W/HEAD (EXTENOED PASSEO OPENING) - W/ 4" MIN. THICKNESS \\ S |l W/ 1 1/4” Min. EMBEDMENT TO CONCRETE
SCALE : 1/8" = 1” . 5.000 . REQUIRED (F'c=3000 psi) \ BLOCK OR POURED CONCRETE WALL, OR
: J.'__,_ooa» ! OR CONCRETE BLOCK WALL N USE (2) 3/8"0 KWIK BOLT TZ W/ 2" Min.
! REQUIRED. . EMBEDMENT TO POURED CONCRETE WALL
= e S — ——dh — : (4" MIN. THICK)
T L 1Y _i' X USE (2) 3/8"¢ THRU BOLTS TO MULLION.
@I OO0 — ] RS AR
: Iy o —to O A IING : MU NNECTI
L . 3*%3" ALUMINUM ANGLE —] . | I T s W-
S | - I (2) 2'%x4’x1/4"%0'~5" Alum. ANGLE W, | .
<| f | [ | (4) 1/4"¢ THRU BOLT TO HEADER & SCALE : 1/8" = 1
| (2) 3/8'0 KWIK BOLT T2 W/ 2" Min. |
[ L+ EMBEDMENT TO WALL. [
| [T ®/ A USE 2"%7'%1/4"%0°~5" Alum, ANGLES NOTE 1
FOR CASES W/ 3" BUILD-OUT TUBE.
l e LU 4 EXISTING WALL MAY CONCRETE BLOCK FOR DESIGN LOADS UP TO 100.0 psf
T m L W/ 5'-0" Max. MULLION SPAN AND 4'~0" Max. MULLION SPACING AND
%fHﬂz SHALL BE 4" MIN. THICK POURED CONCRETE FOR ALL GREATER MULLION
@. @ ===ttt =————— g‘i SPAN AND LOAD COMBINATIONS.
@ °°
- //, SCALE : 1/8" = 17 ,
I%3" ALUMINUM ANGLE Im ] . , .
@x@ ®_<E:»1’T t FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
OR
®/,:u—’ 1 Approved as corplying witk ® 2010 TILTECO INC. ASSA/40mm BERTHA ROLL—UP A
V" IYPICAL HEADER CONNECTION | ForisBujdive Gode
Date o 3/3/10
ELEVATION /% AT _ENDS: N T Y BT, EASTERN METAL SUPPLY, INC o
SECTION W-W 1 niami Dade Product Control I L E c o INC (ASSA £ 2)
SCALE : 1/8" = 1" Divisio : 3600 23rd AVENUE, SOUTH
1 TILLIT TESTING & ENGINEERING COMPANY LAKE WORTH, FL. 33461 —
By : o 6355 N.W. 36th. St, Ste. JO5 — VIRGINIA GARDENS, Fl. 33166 Phone: (800) 432-2204, Fax: (561) 209—-8380
c’ Phona : (305)871~1530 . Fox : (305)871~1531 ne: z i DRAWING No

2"xMULLION'S DEFTHx1/8" Cont.
ALUMINUM TUBE W/ 2"x2"x1/8"%0"-2"
ALUMINUM ANGLE AT MULLION W/-

- OUNTY

EB—-0006719

REV., No

DESCRIPTION

DATE

REV. No

DESCRIPTION

DATE

WALTER A. TILLIT Jr., P.E !

3

FLORIDA Lic. # 44167 2

4

SHEET 7 OF 12




AN

1/4"8 LAG SCREW @
EA. STUD

WOOD HEADER REQUIRED

INMNSANNNNRNT

////

EXISTING GLASS

VARIES, SEE TABLE 1 ON

J—oPrioNnAL

SHEET § OF 12 FOR Min.
SEPARATION/GLASS.

2"x4" CONT.

SILL PLATE—~

REQUIRED
ju g

EQE

A\

=

e
1.000"

\ =

S

Min.

[/

K¢

X g

2"%4” WOOD STUDS
REQUIRED @ CORNER
(TYPICAL)

%/
ANANAN NN

SO N NN

AN

L

/]

= | |
< <
o o o
b

PLAN A (SECTION)

WALL MOUNT

SCALE : 3/8" = 1"

2'x4” WOOD STUDS REQUIRED
@ CORNER (TYPICAL)

[ 1/4"

EOIEO

!
5

\_.

v

[=—EH
I

2" Min:

T®

1"'x2"x1/8" Cont. Alum.

PLAN B (SECTION)
INSIDE MOUNT

SCALE : 3/8" = 1"

T J

2"%2°x1/8" Cont. Alum.
ANGLE (6063-T6 ALLOY)

1/4"8x3/4" TEK
SCREW ©@ 6" 0.C.

1/4°8 LAG SCREWS @ 6" 0.C. TO
EXISTING WOOD STUD.

\

d

— 7

ax,

1/4" LAG SCREWS © 6"
0.C. TO EXISTING WOOD STUD.

N

7 I
2" Win— 1
-.:: /-
~ /
; ———— [
S ~N

2"%4” STUDS

L—— 2" x 4” WOOD STUDS
REQUIRED @ CORNER
(TYPICAL)

—1/4"0 LAG SCREWS ©@ 6"
0.C. EXISTING WOOD STUD.

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH DESIGN LOADS UP TO
75.0 psf.

1'%x3°%1/8", 2"x3"x1/8",
3'%3’%x1/8" OR 3'x4"x1/8"
CONT. BUILD-OUT TUBE.

s% ——2/\Min—1—
———— ]
jimmiy
£Q £Q—
1/4"6x3/4” TEK ol e 1/4”
Screw @ 6° 0. (74
v |
T
£QI£Q \@

ANGLE (6063—-T6 ALLOY)

1/4°8 LAG SCREWS @ 12"
0.C. @ MIDWIDTH OF PLATE

| S WooD STuD @

24" 0. C. MAX
REQUIRED

WALL MOUNTING INSTALLATION

SINGLE _SPAN CONDITION

N.

r. S

2. FOR NEW FRAME CONSTRUCTION: WOOD MEMBER TO BE SOUTHERN PINE No. 2
W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

3. THIS APPROVAL INCLUDES INTALLATION IN WOOD FOR SINGLE UNITS WITHOUT
STORM BARS, MULLIONS & HEADERS AS SHOWN IN THIS SHEET.

PLAN C (SECTION)
BUILD-OUT

SCALE : 3/8" = 1"

By

Phone : (305)871-1530 . Fox :

oAl
V7

MIAMI-DADE COUNTY

EB~-0006719
WALTER A. TILLIT Jr., P.E.
FLORIDA Lic. # 44167

(305)871-1531

REV. No DESCRIPTION DATE

REV, No

DESCRIPTION

DATE

m
\“““ 4y,
\\\\\ GER A Tll( ‘i’
SN\ CEve R FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
F
- _ DRAWN BY:
Approved as complying with the 3 * ® 2010 TILTECO INC. ASSA/40mm BERTHA ROLL—UP WGV LG
Florida Byilding Code = :
Do oL/ 28/ Lclo ! — EASTERN METAL SUPPLY, INC 3310
b S o 312 liLleco ey P
Miami Dagde Product Control - INC. s600 255 A D
Division TILLIT TESTING & ENGINEERING COMPANY LAKE WORTH, FL. 33461 10—029
6355 NM. 36th. St, Ste. 305 — VIRGINIA GARDENS, Fl. 33166 Phone: (800) 432—2204, Fax: (561) 209—8380 DRAWING No

1

3

2

4

SHEET 8 OF 12




SLAT PERFORMANCE CHART
MAXIMUM DESIGN PRESSURE RATING "W” (p. s. f.)

AND CORRESPONDING MAXIMUM SLAT SPAN ”"L” FOR TYPE 1 SLAT

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

= s =
F——
= — =]
—t—

[=

= =)

SINGLE SPAN

MULTIPLE SPAN

ST TYPEL paxamum MINIMUM SEPARATION SPAN LAYOUT
SLAT SPAN TO GLASS
Max.
DESIGN SINGLE & SINGLE & SINGLE &
LOAD MULTIPLE MULTIPLE MULTIPLE
"W (p.s.f.) UNIT # UNIT #» UNIT ##+
40.0 4'-2" 2 3/4” 2 3/4"
45.0 4'-0" 2 5/8” 2 5/8"
*  SPANS VALID FOR EVERY INSTALLATION LOCATED AT ANY ELEVATION OF
50.0 311" 2 5/8" 2 5/8" BUILDING MEASURED AT BOTTOM OF SHUTTER.
. - - MINIMUM SEPARATION TO GLASS FOR SINGLE AND MULTIPLE UNITS SHALL
55.0 3'-g" 2 1/2 2 1/2 BE MEASURED FROM BACK OF SLAT TO GLASS.
60.0 38" 2 12" 2 12" **  MINIMUM SEPARATION TO GLASS FOR SHUTTERS INSTALLED WITHIN THE
FIRST 30°'-0" ELEVATION OF BUILDING AND MAXIMUM SPAN. SEE TABLE 1
65.0 3'_6" 2 1/2" 2 1/2" FOR Min. SEPARATION TO GLASS FOR SPANS LESS THAN THE Max. ALLOWED.
. p " *+ MINIMUM SEPARATION TO GLASS FOR SHUTTERS INSTALLED ABOVE 30'—0"
70.0 3'-5 2 3/8 23/8 ELEVATION OF BUILDING, MEASURED AT BOTTOM OF SHUTTER.
75.0 3'-3" 2 3/8" 2 3/8"
80.0 3-2" 2 3/8" 2 .3/8" TABLE 1:
85.0 3—1" 2 1/4" 2 1/4" B
90.0 3'-0" 2 1/4" 2 1/4"
95.0 2'-11" 2 1/4" 2 1/4" SLAT SPAN (ft.) MINIMUM SEPARATION TO GLASS
100.0 2'-10" 2 1/4” 2 1/4" - -
/ / 36" OR LESS 2 1/4
> 36" T0 48" 2 5/8”
> 48" 10 50" 2 3/4”
FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
DRAWN 8Y:
Avproved as complying with the © 2010 TLTECO INC. ASSA/40mm BERTHA ROLL—UP A
pprovi . LGV,
Florida Building ode Epay
bwe 07/28 /Lo, / TI LIEC O \ EASTERN METAL SUPPLY, INC 7o
NOA# [~ 0217 (ASsA £ 2)
Miami D eProduct Control INC. 3600 23rd AVENUE, SOUTH
DlViSl(! TILLIT TESTING & ENGINEERING COMPANY LAKE WORTH, FL. 33461 70_.029
M./ 6355 Np'goiﬁf." {.1&05)58;7 ';gga_ ;’ff’”’?_’gg)?fhf Fl. 33166 Phone: (800) 432-2204, Fax: (561) 209-8380 DRAWING No
EB~0006719 REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE
my WALTER A. TILLIT Jr., P.E. ! 3
i FLORIDA Lic. # 4;76‘7 2 7 SHEET 9 OF 12




STORM BAR LOADING CHART

MAXIMUM DESIGN PRESSURE RATING "W” (p. s. f.) AND CORRESPONDING MAXIMUM SPAN "L” FOR

A GIVEN TYPE OF STORM BAR AND STORM BAR _SPACING.

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

MAX. SPAN FOR STORM BARS W/REGULAR CONCRETE ANCHORS

*

TYPE 1 STORM BAR TYPE 2 STORM BAR TYPE 3 STORM BAR TYPE 4 STORM BAR TYPE 5 STORM BAR
MAXIMUM @ 2" x 2" x 1/4" @ 2*x 3" x 1/8" @ 2" x 4" x 1/8" 2" x 4" x 1/4" (2) 2" x 4" x 1/4"
DESIGN
W (ADs f) * STORM BAR SPACING * STORM BAR SPACING * STORM BAR SPACING * STORM BAR SPACING * STORM BAR SPACING
° €3I-0" |3T04 | $3-0" |3 T0O4|g3-0"|FT04| 30"} 304 c3-0"| 3104
40 7'=7" 7'=1" g§-o" | 7-9" 10'-0” | 9’-¢” 11'—10” | 11°-0" 141" 13-1"
45 7'-5" 6-11" 8'~0" | 7'-4" g'~11" | &-11" 11'-6" 10'-8" 13'-8" 12'-9"
50 7'-3" 6'-9” g'-o" | 6~11" 9'-8” 8'-6" 11°=2" 10°'~5" 13'—4" 12'-5"
55 7'-0" 6'-5" 7'-8" | 6'-8" 9'-¢” g-1" 10'=11"| 10°-2" 13'-0" 12'-1”
60 6'-11" 6'-2" 7'—4" | 6’4" g-11" 7'~9" 10-8" 9'~11" 12’-9" 11°~10"
65 6'-9" 5-11" 7'-1" | 61" 8'-7" 7'-5" 10-6" 9’-9” 12'-6" 11°-7"
70 &'-7" 5'-8” 6'~9” | 511" 8'-3" 7'=-2" 10'~4" 9'~6" 12'-3" 11°-5"
75 6'~4" 5'-6" 6'-7" | 5-8" 8'-0" s~11" | 101" g'-2" 12’-0" 11°-2"
80 6'-2" 5'-4" 64" | 5-6" 7'-9” &'~g" 9'-11" 8-11" 11°=10"|  11’-0"
85 6'-0" 5'-2" 6'-2" | 5-4" 7'-6" 6'~6" 9'-10" 8'-7" 11°-8” 10'~10"
90 5'-10" 50" 6'-0" | 5-2" 7'-4" 6'—4" 9'-8" 8'-4" 11°-6" 10°-8"
95 5'-8" 411" | 5-10" | 5'=1" 7—1" 62" 9'-5" §'-2" 11'-4" 10°-7"
100 56" 4'-9” 5'-8" 411" 6'-11" 6'-0" 9'-2" 7'=11" 11°-2" 10°-5"
STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM
SLAT SPAN SHALL NOT BE EXCEEDED.
““\mmmu,,%
5? &V‘ \\é N‘S{’ l’f,' FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
g N No 44167 ‘.' ':: © 2010 TILTECO INC. ASSA/40mm BERTHA ROLL—-UP v
Approved as complying with the * :' : ': §
‘g;fgdaf“)z‘dmg C&ﬁ; /2 g * 'S "I EASTERN METAL SUPPLY, INC V310
oA PR STATE oF i § IL I ECO e 3600 25 AENR. SoUTH
Miami Da  Product Comfol 2 Emnd A 3 TILLIT TESTING & ENGINEERING COMPANY LAKE WORTH, FL. 33461 10-029
D'VM’" L/é"ﬂ / M %, sty 6355 N Setn St Ste 305 - VIRGNA GARDENS, Pl 33168 Phone: (800) 432-2204, Fax: (561) 209—8380 DRAWING No
i EB-0006719 REY. No DESCRIPYION DATE REY. No DESCRIPTION DATE
" 'f'mi(dmm o WALTER A L,TLLU’; Jr PE ! > SHEET 10 OF 12




HEADER LOADING CHART

MAXIMUM DESIGN PRESSURE RATING "W” (p. s. f.) AND CORRESPONDING

MAXIMUM SPAN *L” FOR A GIVEN TYPE OF HEADER.

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

TYPE 1 HEADER TYPE 2 HEADER @ TYPE 3 HEADER @ TYPE 4 HEADER
MAXIMUM | 2" x 3" x 1/8" 2" x 4" x 1/8" 2" x 4" x 1/4” 2" x 6" x 1/8"
DESIGN
”W"L%i . STORM BAR HEIGHT STORM BAR HEIGHT STORM BAR HEIGHT STORM BAR HEIGHT
< 5-0"| 5'107 <5-0"| 5108 | 8710 10° <6-0"| 60108 | 821010 | 1000 122 | 12210 14| < 6-0"| 6108 | 8 TO0 10| 10°TO 12°| 12° TO 14
oo or Ltes§  9'—11" 8'—4” 12’-2" 9'-8" 8'-8" 14'-10" 12'-10" 11°-6" 10-6" 9’9" 151" 13'-1" 11°-8" 10'-8" 9'-11"
45.0 9’4" 7—11" 11'-6" g'—1" §'-2" 14'-0" 12’-2" 10'-10" 9'—11” 9’2" 14'-3" 12'-4" 11'-0" 10'-1" 9'—4"
50.0 8'-10" 7'-6" 10-11" 8'-8" 7'~-9” 13-3" 11'-6" 10'-4" 9’'—5" 8'-8”" 13’-6" 11'-8" 10'-6" 9'=7" 8'-10"
55.0 8'-5" 7'-2" 10°-5" 8'-3" 7'—4" 12'~-8" 110" §’-10" 9-0" 8'—4" 12'~11" 11'-2" 10°-0" 91" 8'-5"
50.0 PO 610" 00 10" B 2" 0" P o7 q1m PTRT 08" g7 > a1
65.0 7'-9" 6'—7" 9;_7» 77" 6'—9" 77‘—8" 10'—1" 9'—0" §'-3" 78" 11'=10" 16'~3" 9'-2" 8'—4" 7,_gu
70'0 7,_6" 6“"4” 90_3» 7,_3,, 6,_6,, 77:_3:: 9:_9:; 8""‘8” 7,_77,, 7,_4” 17._5» 9:_71n 81—10" 8‘—7” 71_6:1
75.0 7'-3" 6'—1" 8'-11" 7'—1" 6'—4" 10'~10" 9'-5" 8'-5" 7'-8" 7'—1" 11°-0" 9'-7" 8'-6" 7'-10" 7'-3"
0.0 7—p" 5117 P 510" P 08" o1 P - 511" 08" P 53" S o
85.0 6"‘9" 5:__9': 8:_40 6,_7,, 5,_77,, 10:_2» 8:_70" 7._77» 7,—3,, 6,_8,, 70;__4:; 9"—0" 8'—0" 7,_4,, 6-_9”
90.0 6.:_7:' 51_711 8:_2:; 6,_5,, 5,_9,, 9J_17u 8:_7:: 7;_8» 7,—0,, 6,_6,, 10:_7:: 8‘_9" 71_10” 7,_1,, 6'—7"
950 6:_511 5:__541 71_77:; 6,_3,, 5,_7,, 9“‘8" 8'—4" 7:_6;: 6’—70" 6"—'4" 94_10:: 8"—6" 74_7!; 6‘—77" 6’—5"
700.0 6‘—3” 51_31; 7:_915 6’-—7” 5,_5,, 91_511 8:_2» 7:_-‘3:, 6'—8" 6,_2,, 9:_7;1 8:_311 70_511 6,_9,, 6'—3"
\“\mmmm,
Ol
\\ “ER A 77[( ‘ﬂ,
\ astt ., (/) . . .
S - \\GE ”4; FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
S = K DRAWN BY:
h . . .
s ., © 2010 TILTECO INC. ASSA/40mm BERTHA ROLL—UP e
Approved as complying with the 3 % : T
Florida Building Code = . M
D %a /o 23 smng * TiLlEco . EASTERN METAL SUPPLY, INC (3
NOA# o4 X Foo 3 INC 3600 23rd AVENUE, SOUTH
g'am’ 1;7’9 Product Control o4 APz s TILLIT TESTING & ENGINEERING COMPANY LAKE WORTH, FL. 33461 10—029
ivisiol ) ad N | 6355 MW 36th. St, Ste. 305 — VIRGINK_GARDENS, FI. 33166 Phone: (800) 432—2204, Fax: (561) 209—8380
By Ué’") AM\—/ Y G\ \\‘\@ Phere (305)67.&7'.;1—52‘(77('76?; g (s0s)j271-1531 REV. No DESCRIPTION DATE m;m DESCRIPTION DATE DRAWING No
T, . %@‘ WALTER A. TILLIT Jr,, P.E. 1
A OUN i FLORIDA Lic, §# 44167 2 SHEET 11 OF 12




MULLION LOADING CHART

MAXIMUM DESIGN PRESSURE RATING *W” (p. s. f.) AND CORRESPONDING MAXIMUM

SPAN_"L”(Ft) FOR A GIVEN TYPE OF MULLION AND MULLION SPACING (Ft.).

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

YPE 1 muLLIoN (N) ree 2 muLion (O) nee 3 muiLion (P)
MAXIMUM 3 x 4" x 1/8" 4" x 4" x 1/4" 4" x 6" x 1/4"
DESIGN
"W"L ?22 f ) MULLION SPACING MULLION SPACING MULLION SPACING
g 4-0"l4 1055 T106'}6 TO B < 4-0"|4 10515 T06'|6 TO B < 4-0"|4 10515 1066 TO 8|8 TO 1000 TO 12
400 0r tes§ 9-0" | 84" | 710" | 82" V119" | 10111 10°-3" 10'-8" ) 16'=4" | 15=2" | 14°-3" | 14’~10"] 13’=10"] 13'~0"
45.0 8'-8" | g=0" | 7-7" | 7=10"} 117=2" | 106" 9'=11" §10-3" | 15°-8" | 14°=7" | 13°-8" | 14'—4" | 13°-3" | 12°=6"
50.0 8-4" | 7~9" | 7=3" | 7~7" Vio=11"| 10=2" | 9=7~ 9'-11" ) 15°-2" | 141" | 13=3" [ 13=10"| 12=10"| 12'~1"
550 | &=1" | 7-6" | 7=1" | 74 |10-7" | 910" | 9=5" | 9-7" | 10-5" 13°=7" 112'=10"[ 13'=4" | 12'-5" | 11-8"
60.0 7=10"1 =37 | 6-10"| 7-2" | 10-3" | 9'~7" |9=0" | 9—4" 14'=3" | 133" [ 12-5" [ 13'=0" |12°=1" | 11"-4"
65.0 7-8" | 7’1" V68" | 7’0" | 100" | 9-4” | g'—9" | 9°=1" 13117112117 12°=2" | 12'-8" | 119" | 11'=1"
70.0 7-5" le-11" | 6=6" | 6'-10"| 9'-9” [ 91" | g—g" 8'-10" | 13'~-7" L12'=7" V11°=10"| 12°=4" | 177=5" | 10'=9"
75.0 73" | 69" | 64" | 6-8" | 9~7" [s-10" | g—4" | &-8" | 133" | 123 11°=7" 112°=1" | 11°=2"| 10'-8"
80.0 7=2" L e-7" | 6-3" | 66" | 9—4" | 8=8" | 8—2" | a—6" | 12°-11" 120" | 11°~4" { 11°=10" 10’=11"| 10'=4"
85.0 7-0" | 66" | 6~1" | 6-4" | 92" | 86" | 8~0" | g—2" 12'-8" | 11°=9"| 111" | 11°=7"| 10'~9” | 10’-1"
90.0 6'-10" | 6'-¢4" | 60" | 6'=3" | 9’-0" 84" | 7~10"} 8-2" li1z=5" | 11=7" 10=117| 11—4" 10'-6" | g'-11"
960 | 6-9" | 6-3"| 5-107] 62" | g~10" | 82" | 7=9” | 8'=1" | 12=3"| 11'—4" 10-8"| 11'=2"| 10'-4"| 9'-9”
100.0 6'-7" | 6-2" | 5-9”| 6-0" | 8'-8" | 8~0" | 7—7» | 7~11" 12'-0" | 11'=2"| 10'-6"| 10’=11"| 10'=2" | g'—7"

NOTES :  REFER TO ELEVATIONS ON SHEET 1A OF 12

1—. FOR MULLIONS INSTALLED W/Q STORM BARS

A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED

2~. FOR MULLIONS INSTALLED W/ STORM BARS & HEADERS

A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM HEADER SPAN SHALL NOT BE EXCEEDED

B) STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

DRAWN BY:
© 2010 TLTECO INC. ASSA/40mm BERTHA ROLL—UP A
Approved as complying with the
Florida Building Cede 2/3/10
S&'idg_a %“%‘ Eg ézo /o ‘r—r_o X EASTERN METAL SUPPLY, INC o
(Assa # 2)
NOA# < Prod tCon i ILIEC INC. 3600 23rd AVENUE, SOUTH
;‘)’i‘am‘ crio “C TILLIT TESTING & ENGINEERING COMPANY LAKE WORTH, FL. 33461 10—029
io - . - \ -
ivis 6355 Kt J6th. St Ste. 303 ~ VRGN CAROENS. 1 33168 Phone: (800) 432-2204, Fax: (561) 2098380 DRAWING No
EG—0006719 REY. Neo DESCRIPTION DATE REV. No DESCRIPTION DATE
_W_DTD'E"CD'UNT? WALTER A. TILIT Jr, P.E. : 5
FLORIDA Lic. § 44167 2 y SHEET 12 OF 12




